

INEQUALITIES OF R. RADO TYPE FOR WEIGHTED MEANS

D. S. Mitrinović

(Communicated November 12, 1965)

1. Let $a = (a_1, a_2, \dots)$, $p = (p_1, p_2, \dots)$, $q = (q_1, q_2, \dots)$ be sequences of positive numbers.

For $n = 1, 2, \dots$ we set

$$A_n(a; q) = \frac{\sum_1^n a_i q_i}{\sum_1^n q_i},$$

$$G_n(a; p) = \left(\prod_1^n a_i p_i \right)^{1/\sum_1^n p_i}.$$

We shall prove the following inequality:

$$(1) \quad \left(\sum_1^n q_i \right) A_n(a; q) - \frac{q_n}{p_n} \left(\sum_1^n p_i \right) G_n(a; p) \\
 \geq \left(\sum_1^{n-1} q_i \right) A_{n-1}(a; q) - \frac{q_n}{p_n} \left(\sum_1^{n-1} p_i \right) G_{n-1}(a; p).$$

We put

$$(2) \quad f(a_n) = \sum_1^n a_i q_i - \frac{q_n}{p_n} \left(\sum_1^n p_i \right) \left(\prod_1^n a_i p_i \right)^{1/\sum_1^n p_i} \\
 = \left(\sum_1^{n-1} q_i \right) A_{n-1}(a; q) + a_n q_n \\
 - \frac{q_n}{p_n} \left(\sum_1^n p_i \right) G_{n-1}(a; p) \frac{\sum_1^{n-1} p_i / \sum_1^n p_i}{a_n^{p_n / \sum_1^n p_i}}.$$

By differentiation we get

$$(3) \quad f'(a_n) = q_n - q_n \left[\frac{1}{a_n} G_{n-1}(a; p) \right]^{\frac{\sum_1^{n-1} p_i}{\sum_1^n p_i}},$$

$$(4) \quad f''(a_n) = \frac{q_n}{a_n} \cdot \frac{\sum_1^{n-1} p_i}{\sum_1^n p_i} \cdot \left[\frac{1}{a_n} G_{n-1}(a; p) \right]^{\sum_1^{n-1} p_i / \sum_1^n p_i} > 0.$$

From (3) and (4) we conclude that $f(a_n)$ has a minimum for $a_n = G_{n-1}(a; p)$ and no more extrema. From (3) we get

$$\min f(a_n) = \left(\sum_1^{n-1} q_i \right) A_{n-1}(a; q) - \frac{q_n}{p_n} \left(\sum_1^{n-1} p_i \right) \cdot G_{n-1}(a; p),$$

and (1) follows.

2. If $p_k = q_k$ ($k = 1, 2, \dots$), we get from (1)

$$(5) \quad \begin{aligned} 0 &\leq (p_1 + p_2) [A_2(a; p) - G_2(a; p)] \\ &\leq \dots \\ &\leq \left(\sum_1^{n-1} p_i \right) [A_{n-1}(a; p) - G_{n-1}(a; p)] \\ &\leq \left(\sum_1^n p_i \right) [A_n(a; p) - G_n(a; p)] \\ &\leq \dots \end{aligned}$$

If $A_n(a; p) = G_n(a; p)$, we must have

$$A_k(a; p) = G_k(a; p) \quad (k = 1, 2, \dots), \quad \text{i. e.}, \quad a_1 = a_2 = \dots = a_n.$$

3. If $p_1 = p_2 = \dots = p_n = 1$, (5) gives

$$(6) \quad n(A_n - G_n) \geq (n-1)(A_{n-1} - G_{n-1}),$$

where

$$A_k = \frac{1}{k} \sum_1^k a_i, \quad G_k = \left(\prod_1^k a_i \right)^{1/k}.$$

Inequality (6) is due to R. Rado [1]. The same inequality was rediscovered by L. Tchakaloff [2], E. Jacobsthal [3] and A. Dinghas [4].

REFERENCES

- [1] G. H. Hardy—J. E. Littlewood—G. Pólya, *Inequalities*, Cambridge 1934, p. 61.
- [2] L. Tchakaloff, *Sur quelques inégalités entre la moyenne arithmétique et la moyenne géométrique*, Годишник на Софийски Университет, Физико-математически факултет, **42—1** (1946), 39-42; Publications de l'Institut mathématique de Belgrade, **3** (17) (1963), 43-46.
- [3] E. Jacobsthal, *Über das arithmetische und geometrische Mittel*, Det Kongelige Norske Videnskabers Forhandling, Trondheim, **23** (1951), 122.
- [4] A. Dinghas, *Zum Beweis der Ungleichung zwischen dem arithmetischen und geometrischen Mittel von n Zahlen*, Mathematisch-physikalische Semesterberichte, **9** (1962/1963), 157-163.